NOTES:
A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC
CONTROL SYSTEMS OR MODULES.
B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE SECONDARY CLUTCH. EYEBOLT
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED 8
POSITION, PULL TO ENGAGE PRIMARY CLUTCH. a EYEB
o OLT
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH °
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL © N SECONDARY CLUTCH (FIRST) —
CONTROL VALVE IS IN THE CENTERED POSITION AND Q Q A PRESSURE PORT
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION. © co X M R i
2. CURRENT = 20 AMP MAX. @@2 > T S O TIGHTENING TORQUE 20+2.0 Nm
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING. — p— 3 \V] .
T
D. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE = | L o
AND TEMPERATURE ALARM LEVELS. Ig., ~ ®
. = i
1 INPUT GROUP REFERENCE PLANE ) =
K:
Q@ ® I
2 PTO ADAPTER MOUNTING FACE = dk
° z
3 LEFT MOUNTING BRACKET FACE S o I
I TEMPERATURE PORT Sl 7
Q (e A e Por] L
Q —=
AFTER HEAT EXCHANGER i i
4 RIGHT MOUNTING BRACKET FACE TIG(HTENING TORGUE 5445 Nn”)l |
Q y
WY / o |
D
C A @‘ \
[ Ad WATER OUTLET FOR L
; v e i
O/‘
SECONDARY CLUTCH (FIRST
e TR T ‘) ©
x1.5
CONFORMS TO 1SO 6149 @ 8 0/ (]
TORQUE TO 16 £ 1.5 N-mm o PRIMARY CLUTCH (FIRST) |
PRESSURE PORT
[ - M14x1.5 VETRIC PORT Q
7= NFORMS TO ISO 6149
@i‘ 0 TORQUE TO 20 £ 2.0 N-mm 0000 O E o o° Qoo Q) REATHER 5
OIL STRAINER Qoo oo
5 ‘\' 26 mm CLEARNACE REQUIRED ; g z g REMOVE FOR OIL FILL
4 .. TO REMOVE TUBE TO ACCESS 7/
/ - OIL STRAINER.
.iB TEMPERATURE PORT
@Tﬂé I CONFORMS T0 IS0 6149
= EYEBOLTS FOR LIFTING MARINE
T|(gﬁ$gﬁ|igET%TREQ)EJ%HQJIEEJR) TRANSMISSION ONLY (3 EYEBOLTS)
/ \ m EQUALIZE LOAD ON EYEBOLTS TO
i LIFT MARINE TRANSMISSION. MAIN PRESSURE PORT
N , M12x1.5 METRIC PORT
2 ' Suy CONFORMS TO 1SO 6149 @ -
N - — - 840.5 _ CONNECT OIL PRESSURE
' GAUGE LINE HERE.
> TIGHTENING TORQUE 16£1.5 Nm
|
\ ENGAGES SECONDARY CLUTCH
I~ SEE NOTE "A"
N &4”\«; _
$280.0 ) > :
. @ . .\
\ B>
® 23,0 THRU =N PRIMARY CLUTCH (FIRST)
©) 12HOLES I PRESSURE PORT @
M12x1.5 METRIC PORT
| J ?%ﬁ?‘éﬁm%ﬁ%'f?gfé ﬁ% 15N
M22x1.5-6H THRU +1.5 Nm
® 2 HOLES ENGAGES PRIMARY CLUTCH SECTION A-A T
180° APART SEE NOTE "A"
SEE NOTE "B"
®
I’)‘sp ?guSNPFEzEg TSI-I|E B‘SOR PORT Ol LEVEL GAUGE = END1 OOZFOi:?UMP - 1
5/8- - D.
TARGET WHEEL 51 TEETH
TRAILING PUMP INLET
M16x1.5 METRIC PORT TEMPERATURE AND LUBE PRESSURE PORT —~ 520.13 -
CONFORMS TO ISO 6149 M27x20 METRIC PORT -~ 23179 —= 4
TIGHTENING TORQUE 24 +2 Nm CONFORMS TO 1SO 6149 SEE NOTE "C" '
(AFTER HEAT EXCHANGER)
o i TIGHTENING TORQUE 55+7 Nm
= .
g G INPUT SHAFT G > S ul:
2 & / T
13=) \ O W\ \\_‘
< PRIMARY CLUTCH (SECOND E 3 o
8 g g S WATER INLET FOR N ® PRESSURE PORT | ) N m 30.0
HEAT EXCHANGER o M14x1.5 METRIC PORT S — =
= 8 se8 8 s B 2-11 1/2 NPTF THREAD CONFORMS TO 1SO 6149 : L -~ 60
] = g O 8 g \ o TIGHTENING TORQUE 2042 Nm ! | P
= S= S )
] _ & O & & O OIL FILTER L [ ~ [+ T I
i 2 8 8 g 24 mm CLEARANCE REQUIRED — i
\ s © o o TO REMOVE FILTER CANISTER D | ) 3
— & ) = APPLY OIL TO FILTER GASKET.  GREASE FITTING . | <0 NI —
| | - - TEMPERATURE AND LMEEX;%EN?ES_IQRRICE; Egg_ ® i/lzG ;SEETTJEIHAEFSF%% QEE:IEEONAL \ U @ | 1
— : ASKET MAKES CONTACT. S—=
j 5 - CONFORMS TO ISO 6149 : qd | | o
i 3 =3 (AFTER HEAT EXCHANGER) lﬂ | = i i i i i i 1 IF . S
5 | TIGHTENING TORQUE 557 Nm Pl ] | ! b
3 o Q - ;
NEO il s ——— !
L © O . R.H. ENGINE ROTATION % 5 e~} ; 1 ——L
i - - ® / DRIVEN THROUGH PRIMARY ~ — :
N :E ’ | _—B O = - | T} _m = A | 1 T
'$' | S = L 9
ill @ O Q) e = g .
L] i { | S
| o O l I [ | Q=
i I T =] Q o ‘ :[i § %
— N AN | <t
\ |
i N O O g ] : . S % _ E s ﬂf' ! 1 \@ N g
| LS 39 - i i > 8 T |4
—— ] ~ ST t < @ — | 2
E (/;f O O o= : 8 : $7';\ - 'Aé N j
] | [9 © o s R
1 N _
E O O SECONDARY CLUTCH (SECOND)—| &) ®\® T j
U 2, FRESSURE PORT O O . .
M14x1.5 METRIC PORT - ‘
E 1 O @ CONFORMS TO ISO 6149 - o—-! . — O} %
U\L# ﬁ TIGHTENING TORQUE 20+2 Nm © 600 - -
—H U -
= 7 2500 —=| =  —
Jj i ]
/ !
OUTPUT SHAFT¢ 3 TRAILING PUMP PRESSURE AND ]
TEMPERATURE PORT M24X3.0-6H TAP 7 36.0
R.H. ENGINE ROTATION B NITE N 2R . 596.00 16 HOLES (8 EACH SIDE)
DRIVEN THROUGH SECONDARY D GHTENING TORQUE 37+ 4 Nm USE ALL SIXTEEN (16) HOLES
- 587 6 ~ FOR MOUNTING UNIT.
® | ‘e SE a8 T S o™
57.7 = 730.3 - TORQUE TO S574 OR SERVICE 1
EII_IAIEI)SQIQIZE 51 PER C.G. T MANUAL VALUES. E | ECNWF-27022 |03/01/2018
|SO 6162 CODE 61 - -— REV CHANGE NO. DATE
1 2312 M1 75,300 DELP 490.00 QUTPUT SPEED
T ) MATERIAL: DATE:
- 644 4 _ RGBT WHEEL: 80 TEETH EQUIPMENT SHOWN: FIRST USE ASSEMI-.%LY. EIGHT: k| /NN | THIRD ANGLE 08/20/2010
-MGX-61000SC PER 1024420 SERIES ASSEMBLIES [ USE MOPEL R, | /| PROJECTION SCALE
EII_IABSQIQIZE 51 PER -1023828 INPUT GROUP SIMILAR TO: AT ey p—— UL 1:5 RACINE, WI 53403 - USA
_ DRAWN BY:
ety AR oo METRIC | "agmgss 5 1004771C
P245THRUALL  M12x1.75, 30.0DEER -TRAILING PUMP R oS PR OO e N L e
TWIN DISC, INCORPORATED e Ry NP INSTALLATION APPROVED BY: [DWG SHEET REV:
THIS NOTICE IS NOT INTENDED TO NULLIFY OR LIMIT RIGHTS .
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX'61000SC ALC SIZE: AO 1 OF 1 E
J | G F | E D | C | B | A ——



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5
	Drawing View6
	Drawing View7
	Section View A-A
	Section View B-B
	Drawing View10


